Guia Redox

Iguale las siguientes ecuaciones de oOxido-reduccién por el método de ion
electron.

Medio acido:
a) Fe™ + Cr,0,2 —*> Fe™ + Cr®

(R:6 Fe™ + 14 H" + Cr,0,2 —> 6 Fe™ +2 Cr" +7H,0)

b) CaC,04 + KMNOy4 + H2804_> CasS0, + K;SO4 + MNSO,4 + CO, + H50

(R: 5 CaC,04 + 2 KMNnO,4 + 8 H,SO, —»5 CaS0, + K,SO4 + 2 MnSO,4 + 10 CO, + 8 H,0)
C) K>Cr,O7 + HI + HCIO, —» CI’(C|O4)3 + KCIO4 + 1, + H,O

(R: K>Cr,O; + 6 HI + 8 HCIO,— 2 CI’(C|O4)3 +2KCIOs4+31,+7 Hzo)
Medio basico:

a) Bi(OH); + Sn0O,? — Bi + Sn0O3*

(R: 2Bi(OH); + 3Sn0,? — 2Bi + 3Sn03? + 3 H,0)

b) MNOs + IT — MnOs + |I»

(R: 4H,0+61 +2MnO; — 31, + 2MnO; + 8 OH)

c)Zn + NaNOz + NaOH—* NayZnO; + NH3z + H,0

(R:4Zn + NaNO3z + 7NaOH —*4 NayZnO, + NH3; + 2 H,0)



